CONVERT GRAMS TO KILOGRAMS

1000 grams = 1 kilogram

Example:

4500 grams = 4500 + 1000 = 4'/, kg or 4.5 kg
Answer the following questions.

1. Martha has two boxes weigh 270 grams and 2610 grams. What is the approximate
weight of the boxes in kilograms?

Answer =

2. A 6 foot tall man should weigh between 72,274 g and 89,000 g. Brian, who is at the
same height, weighs 78 kg. Is he overweight or underweight or within his range? What
is his weight in grams?

Answer

3. A fish weights 4500g. What is its mass in kg?

Answer =

4. Sandra has bought a cabbage weighing 1106 grams. How much is its weight in
kilograms?

Answer =

5. Convert 4450 g to the kilograms and grams

Answer =




